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Name: __________________________________



1
In the diagram below, [image: image1.png]MNDER



 is the image of [image: image2.png]MABC



 after a clockwise rotation of 180° and a dilation where [image: image3.png]


, [image: image4.png]


, [image: image5.png]


, [image: image6.png]


, [image: image7.png]


, and [image: image8.png]


.

[image: image9.png]55
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11




Which relationship must always be true?

	1)
	[image: image10.png]B





	2)
	[image: image11.png]i





	3)
	[image: image12.png]




	4)
	[image: image13.png]






2
In the diagram below, [image: image14.png]MNADE



 is the image of [image: image15.png]MABC



 after a reflection over the line AC followed by a dilation of scale factor [image: image16.png]


 centered at point A.

[image: image17.png]



Which statement must be true?

	1)
	[image: image18.png]M/ BAC = msARED





	2)
	[image: image19.png]msABC = msADE





	3)
	[image: image20.png]m/DAE = % mLBAC





	4)
	[image: image21.png]m/ACE = % m/DAB







3
Which sequence of transformations will map [image: image22.png]MABC



 onto [image: image23.png]MNA'BC



?

[image: image24.png]



	1)
	reflection and translation

	2)
	rotation and reflection

	3)
	translation and dilation

	4)
	dilation and rotation



4
Given: [image: image25.png]MARC



, [image: image26.png]MNDER



, and [image: image27.png]FEICE




[image: image28.png]



What is a correct sequence of similarity transformations that shows [image: image29.png]MNARC ~ ANDEF



?

	1)
	a rotation of 180 degrees about point E followed by a horizontal translation

	2)
	a counterclockwise rotation of 90 degrees about point E followed by a horizontal translation

	3)
	a rotation of 180 degrees about point E followed by a dilation with a scale factor of 2 centered at point E

	4)
	a counterclockwise rotation of 90 degrees about point E followed by a dilation with a scale factor of 2 centered at point E



5
On the set of axes below, [image: image30.png]MABC



 has vertices at [image: image31.png]A(=2,0)



, [image: image32.png]B(2,-4)



, [image: image33.png]


, and [image: image34.png]MNDER



 has vertices at [image: image35.png]


, [image: image36.png]E(-4,8)



, [image: image37.png]


.

[image: image38.png]>





Which sequence of transformations will map [image: image39.png]MABC



 onto [image: image40.png]MNDER



?

	1)
	a dilation of [image: image41.png]MABC



 by a scale factor of 2 centered at point A

	2)
	a dilation of [image: image42.png]MABC



 by a scale factor of [image: image43.png]


 centered at point A

	3)
	a dilation of [image: image44.png]MABC



 by a scale factor of 2 centered at the origin, followed by a rotation of 180° about the origin

	4)
	a dilation of [image: image45.png]MABC



 by a scale factor of [image: image46.png]


 centered at the origin, followed by a rotation of 180° about the origin



6
After a composition of transformations, the coordinates [image: image47.png]


, [image: image48.png]


, and [image: image49.png]


 become [image: image50.png]A“(-2,-1)



, [image: image51.png]B"(-2,-3)



, and [image: image52.png]C"(-1,-3)



, as shown on the set of axes below.

[image: image53.png]



Which composition of transformations was used?

	1)
	[image: image54.png]




	2)
	[image: image55.png]Roge © Dy





	3)
	[image: image56.png]D1 ©Rygy.
12 Ruao





	4)
	[image: image57.png]D1 o Rgy.







7
In the diagram below, triangles XYZ and UVZ are drawn such that [image: image58.png]ZU



 and [image: image59.png]LXZY = LUZYV



.

[image: image60.png]



Describe a sequence of similarity transformations that shows [image: image61.png]


 is similar to [image: image62.png]


.

8
As shown on the set of axes below, [image: image63.png]AGHS



 has vertices [image: image64.png]


, [image: image65.png]


, and [image: image66.png]


.  Graph and state the coordinates of [image: image67.png]AOIH"S



, the image of [image: image68.png]AGHS



 after the transformation [image: image69.png]


.

[image: image70.png]




9
Triangle ABC has vertices [image: image71.png]


, [image: image72.png]


 and [image: image73.png]


.  State and label the coordinates of the vertices of [image: image74.png]MAYB



, the image of [image: image75.png]MABC



, following the composite transformation [image: image76.png]


.  [The use of the set of axes below is optional.]

[image: image77.png]
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The coordinates of the vertices of parallelogram SWAN are [image: image78.png]


, [image: image79.png]


, [image: image80.png]A(-4,6)



, and [image: image81.png]


.  State and label the coordinates of parallelogram [image: image82.png]SYWr AN



, the image of SWAN after the transformation [image: image83.png]


.  [The use of the set of axes below is optional.]

[image: image84.png]=





11
Triangle ABC has coordinates [image: image85.png]


, [image: image86.png]


, and [image: image87.png](5, 10)



.  

a
On the grid below, graph and label [image: image88.png]MABC



.  

b
Graph and state the coordinates of [image: image89.png]


, the image of [image: image90.png]MABC



 after a half-turn [image: image91.png](Rieo- )



.  

c
Graph and state the coordinates of [image: image92.png]MAYB



, the image of [image: image93.png]MABC



 after [image: image94.png](Dy°T5)



.

d
What is the ratio of the area of [image: image95.png]MABC



 to the area of [image: image96.png]MAYB



?

[image: image97.png]=





12
The coordinates of the vertices of [image: image98.png]MABC



 [image: image99.png]


, [image: image100.png]B(-2,2)



 and [image: image101.png]


.  On the grid below, graph and label [image: image102.png]MAYB



, the result of the composite transformation [image: image103.png]Dy°Ts,



.  State the coordinates of [image: image104.png]


, [image: image105.png]


, and [image: image106.png]


.

[image: image107.png]
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The coordinates of the endpoints of [image: image108.png]AB



 are [image: image109.png]


 and [image: image110.png]


.  Is the image [image: image111.png]4" B"



 the same if it is reflected in the x-axis, then dilated by [image: image112.png]


as the image is if it is dilated by [image: image113.png]


, then reflected in the x-axis?  Justify your answer.  (The use of the accompanying grid is optional.)

[image: image114.png]




14
Triangle ABC has vertices [image: image115.png]


, [image: image116.png]


, and [image: image117.png]


.  On the accompanying grid, draw and label [image: image118.png]MABC



.  Graph and state the coordinates of [image: image119.png]


, the image of [image: image120.png]MABC



 after the composition [image: image121.png]Dy ° g



.

[image: image122.png]
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Farmington, New York, has plans for a new triangular park.  If plotted on a coordinate grid, the vertices would be [image: image123.png]


, [image: image124.png]


, and [image: image125.png]


.  However, a tract of land has become available that would enable the planners to increase the size of the park, which is based on the following transformation of the original triangular park, [image: image126.png]Razpe ©




.  On the grid below, graph and label both the original park [image: image127.png]MABC



 and its image, the new park [image: image128.png]MAYB



, following the transformation.
[image: image129.png]
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a
Triangle ABC has coordinates [image: image130.png]


, [image: image131.png]B(-3,0)



, and [image: image132.png]C(—6,9)



.  On the graph below, draw and label triangle ABC.  

b
Reflect the graph drawn in part a in the origin.  State the coordinates of A', B', and C', the images of A, B, and C.

c
Dilate the graph drawn in part b using [image: image133.png]


.  State the coordinates of A", B", C", the images of A', B', and C'.
d
Translate the graph drawn in part c using [image: image134.png]Tisa)



.  State the coordinates of A"', B''', and C''', the images of A", B", and C".

[image: image135.png]=





17
On the graph below, sketch the triangle formed by points [image: image136.png]


, [image: image137.png]


, and [image: image138.png]


.  On the same set of axes, graph and state the coordinates of
a
[image: image139.png]


, the image of [image: image140.png]MABC



 after the rotation [image: image141.png]Roge



.  

b
[image: image142.png]MAYB



, the image of [image: image143.png]


 after the translation [image: image144.png]


.

c
[image: image145.png]MATB O



, the image of [image: image146.png]MAYB



 after the dilation [image: image147.png]


.

Is the composite transformation [image: image148.png]MABC — AAMBM



 an isometry?  Explain your answer.
[image: image149.png]=






1
ANS:
4
REF:
081514geo

2
ANS:
2
REF:
011702geo

3
ANS:
4
REF:
061608geo

4
ANS:
4
REF:
081609geo

5
ANS:
3
REF:
011903geo

6
ANS:
3
REF:
060908ge

7
ANS:


Triangle [image: image150.png]xryz



 is the image of [image: image151.png]


 after a rotation about point Z such that [image: image152.png]


 coincides with [image: image153.png]7U



.  Since rotations preserve angle measure, [image: image154.png]7Y



 coincides with [image: image155.png]TV



, and corresponding angles X and Y, after the rotation, remain congruent, so [image: image156.png]


.  Then, dilate [image: image157.png]AXPZ2



 by a scale factor of [image: image158.png]B8



 with its center at point Z.  Since dilations preserve parallelism, [image: image159.png]


 maps onto [image: image160.png]


.  Therefore, [image: image161.png]


.
REF:
spr1406geo

8
ANS:


[image: image162.png]


  [image: image163.png]G"(3,3), 7"(7,7),5(-1,9)




REF:
081136ge

9
ANS:


[image: image164.png]e

PR

“ “ N

nrnafar e s PR




  [image: image165.png]A“(11,1), B"(3,7), C"(3,1)




REF:
011336ge

10
ANS:


[image: image166.png]


 [image: image167.png]


, [image: image168.png]


, [image: image169.png]A“(2,1)



, and [image: image170.png]M'(4,2)




REF:
061335ge

11
ANS:


[image: image171.png]), B'(-8,-2),C"(-5,-10)



; [image: image172.png]A“(-4,0), B"(6,0), C"(0, 16)



; [image: image173.png]



REF:
089437siii

12
ANS:


[image: image174.png]


  [image: image175.png]A“(8,2), B"(2,0), C"(6,-8)




REF:
081036ge

13
ANS:


[image: image176.png]


  If [image: image177.png]AB



 is reflected first, the coordinates of the endpoints of [image: image178.png]


 are [image: image179.png]


 and [image: image180.png]B'(4,-2)



.  When the reflection is dilated, the coordinates of the endpoints of [image: image181.png]4" B"



 are [image: image182.png]A“(1,-3)



 and [image: image183.png]


.  If [image: image184.png]AB



 is dilated first, the coordinates of the endpoints of [image: image185.png]


 are [image: image186.png]A'(1,3)



 and [image: image187.png]B'(2,1)



.  When the dilation is reflected, the coordinates of the endpoints of [image: image188.png]4" B"



 are [image: image189.png]A“(1,-3)



 and [image: image190.png]


.  The images are the same.
REF:
080028a

14
ANS:


[image: image191.png]), B'(-12,-6), C'(-8,-10)




REF:
068941siii

15
ANS:


[image: image192.png]



REF:
010930b

16
ANS:


[image: image193.png]


; [image: image194.png]A"(0,-3), B"(1,0),C"(2,-3)



; [image: image195.png]A"'(5,1),B"(6,4),C""(7,1)




REF:
069038siii

17
ANS:


[image: image196.png]A'(3,3),B'(5,-1),C"

(4, 5)



; [image: image197.png]A“(-1,2),B"(1,-2),C"(0,4)



; [image: image198.png]A"'(-3,6), B"'(3,




; No, length is not preserved.
REF:
069938siii
